
"- Midterm next Wed!
- Picking up from matrix multiplication

# Another way to think about matrix hid

# Identity matrix
In is an hon matrix that looks like:
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# Matrix addition a scaler mul

#In dime for mule=A and InB=B provided A, B

ArB = [ag) + by) = (ay +by].
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# Zero matrix
nixm
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# Algebra with Matrix
Let A,B, C be wan matrix aund a,dER.

l. B+A= A+B
2. (A+B) +C = A + (B + C)
3. A + Omen = A
4. 3-Aman A+ (-A) = 0 man

3. c(A+B) = cAtcB
cA+dA

a Hmm this looks a lot like vector axioms what I we say
RMIn is a rector space of all man matrices

Meanwhile, matrix muls: I assume type check dim check passes
1. (AB)C = A(BC)
2. A (B+C) = AB+AC
3. (A +B)C = AC+ BC
4. K(AB) = (KA)B

5. Im Amon = A =

1. A(B+C) = AB+AC
2. k(AB) = (kA)B = ACkB)

so matrix transformation is 1.7.

6. (c+dIA=
7. IA = A

Aman In

Notice that:


